
 

 
 

 

ASSEMBLY GUIDE 
 
 
 
 
 

60" Espresso TV Stand 
4499BR-60T 

 
 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
 
 
 

Before using your new product, please read these instructions to prevent any damage.  

 
 
 
 

 
 
 
 
 

 
 

 
 



1 
 

 
 
 
 
 

 

 
 
4499BR-60T 

IMPORTANT SAFETY INSTRUCTIONS 
WARNING: Failure to follow these installation instructions or any other abuse, mistreatment, unreasonable use, or neglect 
of the product shall constitute a waiver of all warranties, expressed and implied, and constitute a waiver of all claims of 
liability (including loss of revenue or income, pain and suffering, emotional distress, or similar damages), incidental, 
punitive, or consequential damages arising out of or resulting from the improper installation, abuse, mistreatment, 
unreasonable use, or neglect regardless of whether such damages arise in contract, tort, under statute, in equity, at law, or 
otherwise. 
 
WARNINGS: 
THIS PRODUCT IS INTENDED TO HOLD THE MAXIMUM WEIGHT (EVENLY DISTRIBUTED) INDICATED. EXCEEDING THE 
MAXIMUM WEIGHT WILL RESULT IN INSTABILITY AND MAY CAUSE POSSIBLE INJURY. 
 

• The weight of your TV must not exceed 120 lbs. (54.4 kg). 
• This product contains small items that could be a choking hazard if swallowed. Keep these items away from young 

children! 

  
 

SAVE THESE INSTRUCTIONS 
Dimensions 

 
 
 
 
 
 
 

120 lbs (54.4 kg) 

 
50 lbs (22.7 kg) 

 
 
 

8.3" (21 cm) 
 
 
 
 

50 lbs (22.7 kg) 
 
 

25 lbs (11.3 kg)  
6.6 × 26.9 × 13.4" 
(16.8 × 68.3 × 34 cm) 
(H × W × D) 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 

22
" (

55
.8 

cm
) 

  
 



2 
 

 
Tools needed 

 

60" Espresso TV Stand 

 

   
Phillips screwdriver Flathead screwdriver 

Rubber mallet 
 

Package contents 
Make sure that you have all the parts and hardware necessary to assemble your new TV stand before you begin. 

Stand parts 
 

1 Top panel (1) 2 Bottom panel (1) 
 

4 Upper crossbar (1) 

3 Back panel (1) 
 

5 Middle crossbar (1) 
 

 
 

6 Left side panel (1) 7 Middle panel (1) 8 Right side panel (1) 

9 Side 
foot (4) 

10 Middle 
foot (1) 

 

   
11 Front trim (1) 13 Back drawer panel (2) 

14 Left drawer panel (2) 
12 Adjustable shelf (1) 

 

 
 

15 Right drawer panel (2) 
17 Bottom drawer 

support (2) 
 

16 Bottom drawer panel (2) 
 

18 Front drawer panel (2) 
19 Door (1) 

 
 
 
 
 
 
 
 
 

 
 
 
 

 
 

 
 

 
 

 
 



3 
 

 
 

    
 

4499BR-60T 
 

Stand hardware 
 

 

Anti-tip safety kit 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

Note: You may not need to use all the included hardware. 

LABEL HARDWARE QTY. 

 
A 

 
Glue 

 
1 

 
B 

 

 
Large wood dowel (WD830) 

 
16 

C Cam screw (CSMT6835BR) 21 

 
D  Large cam lock (CL1512BL) 11 

 

E 

 

Small wood dowel (WD630) 

 
6 

F  Small cam lock (CL1510BL) 10 

 
G 

 

 
Wood screw 3.5 × 12 × 6 mm (RHWS35126BL) 

 
2 

 
H 

 
Wood screw 4 × 50 × 8 mm (FHWS4508BL) 

 
6 

 

LABEL HARDWARE QTY. 

 
I 

 

Wood screw 4 × 38 × 8 mm (FHWS4388BL) 

 
16 

 
J 

 
 

Allen bolt 6 × 50 × 10 mm (AB65010BL) 

 
8 

K Allen wrench 1 

 
L 

 

 
Wood screw 3 × 16 × 8 mm (RHWS3168BL) 

23 

 

M 

 
 

Wire management strip 

 
2 

N Handle 2 

 
O 

 

 
Machine screw 4 × 21 × 8 mm (MS4218BL) 

 
4 

 
P  Shelf pin 

 
4 

 

WA Plastic socket 2 

 
WB Wood Screw 4 × 

25 × 8 mm 
2 

 

WC  Mounting tab 4 

 
WD   Plastic mounting strap 2 

 

 
 



4 
 

OR 

     
 

60" Espresso TV Stand 
 

Installation tips 
Installing dowels 

 

1 Put a drop of glue (A) in the dowel hole, then insert about 2/3 of the dowel (B or E) into the hole. You can tap the dowel 
with a rubber mallet, if necessary. 

2 After the dowel is installed, wipe off the excess glue with a damp cloth. 
 
 

        1/3 
 

Installing cam locks and cam screws 
One end of a cam screw (C) is threaded, the other end is not. The un-threaded end locks into a cam lock (D or F). 
1 Screw the threaded end of the cam screw (C) into the cam screw hole. 
2 Insert a cam lock (D or F) into a cam lock hole. Make sure that the open end in the cam lock faces toward the cam screw 

hole. 
3 Insert the un-threaded end of a cam screw (C) into the opening in the cam lock. 

 

 
4 Use a flat blade screwdriver to turn the cam lock clockwise until the arrow and the + and – symbols point away from the 

connected panel. 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 

CAUTION: Make sure that you use glue with the dowels. The glue helps stabilize your TV stand and keeps it from coming apart. 

 
 

OR 

CAUTIONS: 
• Do not use an automatic screwdriver to tighten the cam locks. 
• Do not over-tighten the cam locks. 

 
 

 
 



5 
 

    
 

 
Assembly instructions 

 
 
STEP 1 - Install the dowels and cam screws. 

You’ll need 

   4499BR-60T

 

     
A Glue (1) 

B Large wood dowel (16) 
C Cam screw (21) E Small wood dowel (6)  

Rubber mallet 

 
1 Put a drop of glue in each dowel hole, then insert about 2/3 of each dowel (B or E) into the hole. Use a rubber mallet, if 

needed. Install the dowels (as shown). For more information see Installing dowels on page 4. 
2 Screw the cam screws (C) into the cam screw holes (as shown). For more information, see Installing cam locks and cam  

screws on page 4. 

Top panel (1) 
 

Middle crossbar (5) 
 

 
Left side panel (6) 

 

 
 
 
 
 
 
 

 
  

 
 

WARNING: You need two people to assemble your TV stand. 

 
 

 
 



6 
 

     
 
 
 

Middle panel (7) 
 

 
Right side panel (8) 

 

 
Front trim (11) and adjustable shelf (12) 

60" Espresso TV Stand 

 

 

 
 

Left drawer panel (14), right drawer panel (15), bottom drawer support (17), and front drawer panel (18) 
 
 
 
 
 

 

 
 
 

 
 
 
 
 
 
 
 
 
 
 

 
 

 
 

 
 

Note: You need to insert dowels into two of each part shown. 

 
 

 
 



7 
 

 
 

   
   

STEP 2 - Assemble the left side and middle panels. 
 
 

       
              4499BR-60T 

 

 

 
4 Upper crossbar (1) 

5 Middle crossbar (1)  
6 Left side panel (1) 7 Middle panel (1) 

   
A Glue (1) 

D Large cam lock (2) 
G Wood screw 3.5 × 12 × 6 mm 

(1) 
 

   
Phillips screwdriver Flat blade screwdriver 

 

1 Insert two large cam locks (D) into the cam lock holes on the ends the middle crossbar (5). Make sure that the openings 
on the cam locks face the cam screw holes. 

2 Put a drop of glue into each dowel hole on the left side panel (6) and middle panel (7). 
3 Insert the dowels and cam screws on the ends of the middle crossbar into the holes in the left side panel and middle 

panel. 
4 Tighten the cam locks in the middle crossbar. 
5 Secure the upper crossbar (4) to the left side panel with one wood screw 3.5 × 12 × 6 mm (G). 

 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 

 
 



8 
 

  

 
 

STEP 3 - Attach the right side and bottom panels. 
 

2 Bottom panel (1) 
 

   
Phillips screwdriver Flat blade screwdriver 

 
 
 
 
 
 

 
8 Right side panel (1) 

60" Espresso TV Stand 
 
 
 
 

A Glue (1) G Wood screw 
3.5 × 12 × 6 mm (1) 

 

H Wood screw 
4 × 50 × 8 mm (6) 

 

1 Secure the upper crossbar (4) to the right-side panel with one wood screw 3.5 × 12 × 6 mm (G). 
2 Put a drop of glue into each dowel hole on the left side panel (6), middle panel (7), and right-side panel (8). 
3 Make sure that the rail on the bottom panel (2) is facing the front of your stand, then insert the dowels on the left, 

middle, and right panels into the bottom panel. 
4 Secure the bottom panel to the left, middle, and right panels with six wood screws 4 × 50 × 8 mm (H). 

 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
 
 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

 
 

Front 
 
 

 
 

 
 

 
  

 

 
 



9 
 

     
 
 

STEP 4 - Attach the feet. 
 

   4499BR-60T 

 

    
9 Side foot 

(4) 

10 Middle 
foot (1) 

J Allen bolt 6 × 50 × 10 mm (8) K Allen wrench (1) 

 
 

1 Carefully turn your stand on its side with the bottom panel (2) facing you. 
2 Screw the middle foot (10) into the hole in the center of the bottom panel. 
3 Align the four side feet (9) with the holes on each corner of the bottom panel. Make sure that the angled sides of the 

feet face inward. 
4 Insert two Allen bolts 6 × 50 × 10 mm (J) through each foot and the bottom panel and into your stand. Tighten the 

screws with the Allen wrench (K). 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 



10 
 

 
STEP 5 - Attach the top panel. 

 

 
 
 
 
 

A Glue (1) 

 
 
 
 
 
 

D Large cam lock (6) 

60" Espresso TV Stand 
 
 
 
 

I Wood screw 
4 × 38 × 8 mm (4) 

 

 
1 Top panel (1)  

Flat blade screwdriver 
 

Phillips screwdriver 

 
 

 
 

 
 

 
  

 
 

 

 
 

 
 

1 Carefully turn your stand upright. 
2 Insert six large cam locks (D) into the cam lock holes in the left, right, and middle panels. Make sure 

that the openings on the cam locks face the cam screw holes. 
3 Put a drop of glue in the six dowel holes on the top panel (1). 
4 Place the top panel on the left (6), right (8), and middle (7) panels so that the dowels and cam screws align. 
5 Tighten the cam locks. 
6 Secure the top panel to the upper crossbar (4) with four wood screws 4 × 38 × 8 mm (I) 

 
 
 



11 
 

 
 

 
 

 

 
 

STEP 6 - Attach the back panel. 
 

 
4499BR-60T 

 

 
 
 
 
 

3 Back panel (1) 
 

Phillips screwdriver 

L Wood screw 3 × 16 × 8 mm 
(23) 

M Wire management 
strip (2) 

 
WC Mounting tabs (2) 
Note: WC is part of the 
Anti-Tip Safety Kit 

 
 

 
 

 
 

 
 

1 Align the screws on the back panel (3) with the screw holes on the back of your stand. 
2 Align two mounting tabs (WC) with the holes on the top of each corner of the back panel as shown. 
3 Insert two wood screws 3 × 16 × 8 mm (L) through the mounting tabs and into the back of 

your stand. Tighten the screws. 
4 Align two wire management strips (M) horizontally with the center holes on the back panel as shown. 
5 Insert two wood screws 3 × 16 × 8 mm (L) through the wire management strips and into the back 

of your stand. Tighten the screws. 
6 Secure the back panel to your stand with 19 wood screws 3 × 16 × 8 mm (L). 

 
 
 

WC 

WC 

L 



12 
 

 
    

 
STEP 7 - Attach the trim to the shelf. 

 
 

11 Front trim (1) 

 
 
 
 
 
 
 
 
12 Adjustable shelf (1) 

 
 
 
 
 
 

A Glue (1) 

60" Espresso TV Stand 
 
 
 
 

D Large cam lock (3) 

 
Flat blade screwdriver 

 
1 With the adjustable shelf (12) face down, insert three cam locks (D). Make sure that the openings on the cam locks face 

the cam screw holes. 
2 Put a drop of glue in the three dowel holes on the front trim (11). 
3 Press the shelf and trim together, then tighten the cam locks. 

 
 
 
 

Top 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 

 
 

 
 

 
 



13 
 

 
 

STEP 8 - Assemble the drawers. 
Assembling the sides and backs of the drawers 

 

4499BR-60T 

 

 

 
13 Back drawer panel (2) 

 

 
14 Left drawer panel 

(2) 
15  

16 1
6

 

B
o
t

 
 

15 Right drawer panel 
(2) 

1 Make sure that the grooves in the left drawer panel (14), right drawer panel (15), and back 
drawer panel (13) are on the bottom and facing inward. 

2 Make sure that the dowels on the left and right drawer panels are facing forward. 
3 Secure the left and right panels to the back panel with four wood screws 4 × 38 × 8 mm (I). 
4 Repeat these steps to assemble the other drawer. 

 
 
 

Attaching the drawer bottom drawer panel. 
 
 
 
 

 
 
 

16 Bottom drawer panel (2) 
 

1 Slide the bottom drawer panel (16) into the grooves on the left drawer panel (14), right drawer panel 
(15), and back drawer panel (13). 

2 Repeat this step on the other drawer. 
 



14 
 

  
 

60" Espresso TV Stand 
 

 

Attaching the drawer fronts and drawer supports. 
 

 

17 Bottom drawer 
support (2) 18 Front drawer panel (2) 

 
 
 
 

A Glue (1) 

 
 
 

I 4 × 38 × 8 mm screw (4) 

 
 
 

F Small cam lock (10) 

 

Phillips screwdriver Flat blade screwdriver 

 

1 On the outside of the drawer, attach the bottom drawer support (17) to the back drawer panel (13) with two wood 
screws 4 × 38 × 8 mm (I). 

2 Insert four small cam locks into the cam lock holes on the left drawer panel (14) and the right drawer panel (15). Make 
sure that the cam locks face the cam screw holes. 

3 Put a drop of glue in the three dowel holes on the front drawer panel (18). 
4 Make sure that the groove on the front drawer panel aligns with the groove on the bottom drawer panel, then press 

them together. 
5 Tighten the cam screws. 
6 Repeat these steps for the other drawer. 

 

 
Attaching the drawer handles. 
 
 

 
 

N Handle (2) 
O Machine screw 

4 × 21 × 8 mm (4) 

 
1 Align a handle (N) with the holes in the center of the front drawer panel (18). 
2 From the inside of the drawer, secure the handle with two machine screws 4 × 21 × 8 mm (O). 
3 Repeat these steps for the other drawer. 

 
 
 
 
 

 
 
 
 
 
 

  
 
 
 

 
 

 
 

 
 

 
 



15 
 

     
 

STEP 9 - Insert the shelf and drawers. 

 

 
12 Adjustable shelf (1) 

 
 
 
 
 
 
 
 
 

P Shelf pin (4) 

 
4499BR-60T 

 

Inserting the shelf 
1 Select the level where you want the shelf to sit. You can select from three positions. 
2 Insert the four shelf pins (P) into the holes inside your stand. Make sure that the pins are on the same level. 
3 With the front trim facing you, insert the shelf above the tabs, then lower the shelf onto the tabs. 

 

 

Inserting the drawers 
1 Slide the ball bearing plates on the left and right drawer side panels to the front of your stand. 
2 Align the rails on the drawers with the ball bearing plates, then slide the drawers into your stand. 

 

 
Removing the drawers 

• Pull the drawer out until you can see or feel the black nylon clips on the ball bearing plates, then at the same time, push 
the right clip down, the left clip up, and pull the drawer out of your stand. 

 
 
 

 
 
 
 
 

  
 

 
 

Front 

Ball bearing 
plates 

 
 
 
 
 

Front 
Nylon clip 

 
 
 
 
 

Front 
Nylon clip 



16 
 

  
 
 

STEP 10 - Attach the door. 
 
 
 

19 Door (1) 

 
 
 
 
 
 

 
Phillips screwdriver 

60" Espresso TV Stand 
 
 
 
 

The following parts are pre-installed. 
 

ZA Roller ZB Latch 

 
 

 
 

1 Put the pre-assembled rollers (ZA) on the bottom of the door (19) into the groove on the bottom panel (2). 
2 Make sure that the latches (ZB) are unlocked. 
3 Insert the latches into the groove on the top of the door (19), then push the latch sliders into the locked position. 
4 Make sure that the door slides freely. If the door does not slide freely, loosen the screws in the 

center of the rollers, turn the rollers clockwise slightly, then tighten the screws. Test the door 
movement again. 

 
 
 

BACK VIEW 

Locked 

Unlocked 

BACK VIEW 

You’re done! Clean your stand with a damp cloth, then wipe it dry. 
 
 
 



17 
 

 

 
Anti-tip safety strap installation instructions 

4499BR-60T 

 

 
 
 
 
 
 
 
 
 
 

WA Wood screw 
4 × 25 × 8 mm (2) 

 
 

WB Plastic socket WC Mounting (2) tab (2) 

 
 

WD Plastic mounting 
strap (2) 

 
 

Phillips screwdriver 

 
 

Rubber mallet 
 
 

1 Use a drill with a 5/16" (8 mm) drill bit to drill two holes in your wall approximately two inches below the position of the 
mounting tabs on your stand, then insert the plastic sockets (WB) into the holes. 

 

2 Secure the mounting tabs (WC) to the plastic sockets with two of the wood screw 4 × 25 × 8 mm (WA). 
 

 
3 Thread the plastic mounting straps (WD) through the tabs on your stand and on the wall, then thread the straps 

through the strap holes. 
 

 
4 Pull the straps to tighten them, then thread the straps back through the strap holes to lock them in place. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
 

Note: We recommend that you install the anti-tip strap as a safety precaution. 

 
  

 
 

 

Notes: 
• You attached the mounting tabs to your stand in STEP 6 - Attach the back panel. on page 11. 
• You can use a rubber mallet to lightly tap the sockets into the holes. 

 
 

 
 

 
 



18 
 

 

 
 

 
 

1 Year Limited Warranty 
 

Thank you for purchasing this product. We promise to repair or replace any product or component that may have any defects 
in material or workmanship for 1 year after your purchase. This warranty is subject to the provisions below. The vendor’s sole 
obligation and purchasers' exclusive remedy pursuant to these warranties are limited to replacement at the vendor’s sole 
discretion. There are no other warranties except as expressly set forth below, either expressed or implied, including any 
warranty of merchantability for any particular purpose. 

 
The word "defects" in this warranty is defined as imperfections that impair the service, function, or effectiveness of the product. 

 
1 YEAR: 
Glides, casters and user-adjustable work surface 
mechanisms, laminates, veneer finishes and other materials 
which cover your product. 

 
 
 

INFORMATION ON COLOUR VARIATIONS AND 
FINISHES: 
Some natural variations occurring in wood, or other 
natural materials are inherent to their character, and 
thus cannot be avoided. Therefore, they are not 
considered to be defects. We do not warrant the color-
fastness or matching of colours, grains, textures or 
other such materials. Customers' own materials 
selected by and used at the request of a user is 
therefore not warranted. 

 
 

LIMITATIONS INVOLVING MATERIALS & 
COMPONENTS: 
The materials and all components listed below are 
covered according to the following schedule from the 
date of sale to the original purchaser. 

 
EXCLUSIONS: 
This warranty does not apply to: damage caused by the 
carrier, modifications to the product, or attachments to the 
product not approved by the manufacturer, non-standard 
materials selected by and used at the request of a user, and 
products that were not installed, used or maintained in 
accordance with product instructions and warnings. Nor 
shall the vendor have any responsibility for incidental or 
consequential damages resulting from the breach of this 
Warranty, including but not limited to inconvenience, rental 
or purchase of replacement products, loss of profits or 
commercial loss. Some states do not allow the exclusion or 
limitation of incidental or consequential damages so the 
above limitation or exclusion may not apply to you. This 
warranty gives you specific legal rights and you may also 
have other rights, which may vary from state to state. This 
warranty applies only to products sold within the United 
States of America and the Commonwealth of Canada. 

TO OBTAIN SERVICE FROM THIS WARRANTY: 
Your dealer is our mutual partner in supporting your warranty 
requests. By following the procedures instructed below, you 
are assured that you will receive the best level of customer 
service guaranteed. 

A) Please contact the local Dealer from whom you originally 
purchased within 30 days (unless otherwise noted by 
the Dealer) of discovery of the defect. Prepare to confirm 
that you are the original purchaser of the product and 
provide necessary product information, such as serial 
number(s)/ UPC number(s) from the product in question. 

B) The Dealer will gather all the pertinent information required 
regarding your claim(s), inspect the product and thus 
contact a Vendor Customer Service Representative. 
(Please allow a reasonable amount of time for 
inspection, review, and response to Dealer. 

C) If the Dealer confirms that the product in review is eligible 
under the warranty conditions as stated above, the 
customer service representative or another representative 
of the Company will determine whether to provide 
replacement parts, or authorize other arrangements at the 
sole discretion of the vendor. No assembly/labour is 
included in this warranty. 

 
 
 

Our knowledgeable Service Representatives are ready to assist you 
in the case this warranty applies to you. Please contact your local 
dealer from whom you originally purchased the product in question, 
and be prepared to explain the defect in detail, model/style number, 
date and location of purchase, your name, address, phone number 
and have your original sales receipt ready. 
 
  

 
 
 
 
 
 
 
 
 
 

 



19 
 

     
 

4499BR-60T 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  

 
 

 
 



20 
 

 
 

60" Espresso TV Stand 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 



GUIDE D’ASSEMBLAGE 

Meuble pour téléviseur de 60 po 
de couleur expresso Jacob
4499BR-60T 

Avant d’utiliser votre nouveau produit, veuillez lire toutes les présentes consignes afin d’éviter tout dommage. 



1 
 

 
 
 
 

 

 
 
4499BR-60T 

IMPORTANTES CONSIGNES DE SÉCURITÉ  
MISE EN GARDE : Le non-respect des présentes instructions d’installation ou tout autre abus, mauvais traitement ou usage 
déraisonnable du produit ou négligence envers celui-ci constituent une renonciation à toutes les garanties, explicites ou 
implicites, ainsi qu’une renonciation à toutes les réclamations en matière de responsabilité (y compris la perte de revenus, 
la douleur et la souffrance, la détresse émotionnelle ou des dommages semblables), aux dommages accessoires, punitifs ou 
consécutifs résultant d’une mauvaise installation, d’un abus, d’un mauvais traitement, d’un usage déraisonnable ou d’une 
négligence, que ces dommages découlent d’un contrat, d’un délit civil, d’un droit statutaire, d’un droit en équité, de la loi 
ou autrement. 
 
MISES EN GARDE : 
CE PRODUIT EST PRÉVU POUR SUPPORTER LE POIDS MAXIMAL (RÉPARTI UNIFORMÉMENT) INDIQUÉ. TOUT DÉPASSEMENT DU 
POIDS MAXIMAL ENTRAÎNERA UNE INSTABILITÉ ET PEUT PROVOQUER DES BLESSURES. 
 

• Le poids de votre téléviseur ne doit pas dépasser 54,4 kg (120 lb). 
• Ce produit contient de petits articles qui pourraient présenter un risque d’étouffement en cas d’ingestion. Gardez 

ces éléments hors de la portée des jeunes enfants! 

  
 

CONSERVEZ CES INSTRUCTIONS 
Dimensions 

 
 
 
 
 
 
 

120 lb (54,4 kg) 

 
50 lb (22,7 kg) 

 
 
 

8.3" (21 cm) 
 
 
 
 

50 lb (22,7 kg) 
 
 

25 lb (11,3 kg)  
6,6 × 26,9 × 13,4 po 
(16,8 × 68,3 × 34 cm) 
(H × L × P) 

 
 
 
 
 
 
 
 
 
 
 

 

 
 
 
 

22
 po

 (5
5,8

) 
 

  
 



2 
 

 
 
 

Outils requis 
 

Meuble pour téléviseur de 60 po de couleur expresso 

 

   
Tournevis Phillips Tournevis à lame plate  

Maillet en caoutchouc 
 

Contenu de l’emballage 
Avant de commencer, vérifiez si vous avez bien tous les éléments et toute la quincaillerie nécessaires pour assembler votre nouveau meuble pour 
téléviseur. 

Éléments du meuble pour téléviseur 
 

1 Panneau supérieur (1) 2 Panneau inférieur (1) 
 

4 Barre transversal supérieur (1) 

3 Panneau arrière (1) 
 

5 Barre transversal du milieu (1) 
 

 
 

6 Panneau du côté gauche (1) 7 Panneau du milieu (1)      8 Panneau du côté droite (1) 

9 Pied latéral (4) 10 Pied du milieu (1) 

 

   
11 Garniture avant (1) 13 Panneau du tiroir arrière (2) 

14 Panneau de tiroir du côté gauche (2) 
12 Tablette réglable (1) 

 

 
 

15 Panneau de tiroir du 
côté droite (2) 

17 Support de 
tiroir inférieur (2) 

 

16 Panneau du fond de tiroir (2) 
 

18 Panneau de tiroir avant (2) 
19 Porte (1) 

 
 
 
 

 
 
 
 

 
 

 
 

 
 

 
 



3 
 

    
 

4499BR-60T 
 

Quincaillerie du meuble pour téléviseur 
 

 

 
Trousse anti-basculement  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

Remarque : Vous n’aurez peut-être pas besoin d’utiliser toute la quincaillerie incluse. 

ÉTIQUETTE        QUINCAILLERIE QTÉ 

 
A 

 
Colle 

 
1 

 
B 

 
 

    
         Grand goujon de bois (WD830) 

 
16 

C  

Vis à came (CSMT6835BR) 
21 

 
D          

                     Gros raccord à came (CL1512BL) 
11 

 E 
 

            Petit goujon de bois (WD630) 

 
6 

F                   Petit raccord à came (CL1510BL) 10 

 
G 

 

 
Vis à bois 3,5 × 12 × 6 mm (RHWS35126BL) 

 
2 

 
H  

Vis à bois 4 × 50 × 8 mm (FHWS4508BL) 

 
6 

 

ÉTIQUETTE        QUINCAILLERIE QTÉ 

 
I 

 

Vis à bois 4 × 38 × 8 mm (FHWS4388BL) 

 
16 

 
J 

 
 
    Boulon Allen 6 × 50 × 10 mm (AB65010BL) 

 
8 

K                                        Clé hexagonale 1 

 
L 

 

 
Vis à bois 3 × 16 × 8 mm (RHWS3168BL) 

23 

 

M 

 
 

Bande de gestion des câbles 

 
2 

N Poignée 2 

 
O 

 

 
Vis mécanique 4 × 21 × 8 mm (MS4218BL) 

 
4 

 
P  

                Support de tablette 

 
4 

 

WB Douille en plastique  2 

 
WA Vis à bois 4 × 25 × 8 mm 2 

 

WC  Patte de montage 4 

 
WD   Sangle de montage en plastique 2 

 

 
 



4 
 

OU 

*COLLE 

     
 

Meuble pour téléviseur de 60 po de couleur expresso 
 

Conseils d’installation  
Installation des goujons 

 

1 Insérez une goutte de colle (A) dans l’orifice du goujon, puis insérez environ 2/3 du goujon (B ou E) dans l’orifice. Vous 
pouvez enfoncer le goujon à l’aide d’un maillet en caoutchouc, au besoin. 

2 Une fois que le goujon est installé, essuyez l’excès de colle à l’aide d’un chiffon humide. 
 
 

        1/3 
 

Installation des raccords à came et des vis à came 
Une extrémité des vis à came (C) est filetée, et l’autre ne l’est pas. L’extrémité non filetée se verrouille dans un raccord à came (D ou F). 
1 Vissez l’extrémité filetée de la vis à came (C) dans l’orifice de la vis à came. 
2 Insérez un raccord à came (D ou F) dans l’orifice du raccord à came. Assurez-vous que l’extrémité ouverte du raccord à 

came fait face à l’orifice de la vis à came. 
3 Insérez l’extrémité non filetée d’une vis à came (C) dans l’ouverture dans le raccord à came. 

 

 
4 À l’aide d’un tournevis à lame plate, tournez le raccord à came dans le sens des aiguilles d’une montre, jusqu’à ce que la 

flèche et les symboles + et – soient orientés dans la direction opposée au panneau monté. 
 

 
 

 
 
 
 
 
 
 
 
 
 

 
 

AVERTISSEMENT : Assurez-vous d’utiliser de la colle pour les goujons. La colle aide à stabiliser le meuble pour téléviseur et l’empêche 
de se démonter. 

 
 

OU 

AVERTISSEMENTS : 
• N’utilisez pas un tournevis automatique pour serrer les raccords à came. 
• Ne serrez pas trop les raccords à came. 

 
 

 
 



5 
 

    
 

 
Instructions d’assemblage 

 
 
ÉTAPE 1 – Installez les goujons et les vis à came. 
 

Il vous faudra : 

   4499BR-60T

 

     
A Colle (1) 

B Gros goujon en bois 
(16) 

C Vis à came (21) E Petit goujon en bois 
(6) 

 
Maillet en caoutchouc  

 
1 Insérez une goutte de colle dans l’orifice de chaque goujon, puis enfoncez environ 2/3 de chaque goujon (B ou E) dans 

l’orifice. Utilisez un maillet en caoutchouc, au besoin. Installez les goujons (comme indiqué). Pour de plus amples 
détails, consultez la section Installation des goujons à la page 4. 

2 Vissez les vis à came (C) dans les orifices des vis à came (comme indiqué). Pour de plus amples détails, consultez la 
section Installation des raccords à came et des vis à came à la page 4. 

Panneau supérieur (1) 
 

Barre transversale du milieu (5) 
 

 
Panneau du côté gauche (6) 

 

 
 
 
 
 
 
 

 
  

 

MISE EN GARDE : Il faut deux personnes pour assembler le meuble pour téléviseur. 

 
 

 
 



6 
 

     
 
 
 

Panneau du milieu (7) 
 

 
Panneau du côté droit (8) 

 

 
Garniture avant (11) et tablette réglable (12) 

Meuble pour téléviseur de 60 po de couleur expresso 

 

 

 
 

Panneau de tiroir du côté gauche (14), panneau de tiroir du côté droit (15), support de tiroir inférieur (17) et panneau de tiroir avant (18) 
 
 
 
 
 

 

 
 
 

 
 
 
 
 
 
 
 

 
 

 
 

 
 

Remarque : Vous devez insérer des goujons dans deux de chaque partie indiquée. 



7 
 

 
 

 
 
 

   
   

ÉTAPE 2 – Assemblez les panneaux du côté gauche et du milieu. 
 
 

       
              4499BR-60T 

 

 

 
4 Barre transversale supérieure (1) 

5 Barre transversale 
du milieu (1) 

 
6 Panneau du côté gauche (1) 7 Panneau du milieu (1) 

   
A Colle (1) 

D Gros raccord à 
came (2) 

G Vis à bois 3,5 × 12 × 6 mm 
(1) 

 

   
Tournevis Phillips Tournevis à lame plate 

 

1 Insérez deux gros raccords à came (D) dans les orifices des raccords à came situés aux extrémités de la barre 
transversale du milieu (5). Assurez-vous que les ouvertures sur les raccords à came font face aux orifices des vis à 
came. 

2 Insérez une goutte de colle dans chacun des orifices des goujons situés sur le panneau du côté gauche (6) et le panneau du milieu (7). 
3 Insérez les goujons et les vis à came situés aux extrémités de la barre transversale du milieu dans les orifices situés dans 

le panneau du côté gauche et le panneau du milieu. 
4 Serrez les raccords à came dans la barre transversale du milieu. 
5 Fixez la barre transversale supérieure (4) au panneau du côté gauche à l’aide d’une vis à bois 3,5 × 12 × 6 mm (G). 

 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 

 
 

 
 

 
 



8 
 

  

 
 

 
ÉTAPE 3 – Fixez les panneaux du côté droit et inférieur. 

 

2 Panneau inférieur (1) 
 

   
Tournevis Phillips Tournevis à lame plate 

 
 
 
 
 
 

 
8 Panneau du côté droit 
(1) 

Meuble pour téléviseur de 60 po de couleur expresso 
 
 
 
 

A Colle (1) G Vis à bois 
3,5 × 12 × 6 mm (1) 

 

H Vis à bois 
4 × 50 × 8 mm (6) 

 

1 Fixez la barre transversale supérieure (4) au panneau du côté droit à l’aide d’une vis à bois 3,5 × 12 × 6 mm (G). 
2 Insérez une goutte de colle dans chacun des orifices des goujons situés sur le panneau du côté gauche (6), le panneau du milieu (7) et le 

panneau du côté droit (8). 
3 Assurez-vous que la traverse sur le panneau inférieur (2) fait face à l’avant du meuble pour téléviseur, puis insérez 

les goujons situés sur les panneaux du côté gauche, du milieu et du côté droit dans le panneau inférieur. 
4 Fixez le panneau inférieur aux panneaux du côté gauche, du milieu et du côté droit à l’aide de six vis à bois 4 × 50 × 8 mm (H). 

 
 
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
 
 
 

 
 

 
 

 
 

 
 

 
 

 
 

 
 

 

 
 

Front 
 
 

 
 

 
 

 
  

 

 
 



9 
 

     
 
 

ÉTAPE 4 – Fixez les pieds. 
 

   4499BR-60T 

 

    
9 Pied 
latéral 
(4) 

10 Pied du 
milieu (1) 

J Boulon Allen 6 × 50 × 10 mm (8) K Clé hexagonale (1) 

 
 

1 Tournez soigneusement le meuble pour téléviseur sur le côté, le panneau inférieur (2) face à vous. 
2 Vissez le pied du milieu (10) dans l’orifice situé au centre du panneau inférieur. 
3 Alignez les quatre pieds latéraux (9) avec les orifices situés dans chaque coin du panneau inférieur. Assurez-vous que 

les côtés en angle des pieds sont orientés vers l’intérieur. 
4 Insérez deux boulons Allen 6 × 50 × 10 mm (J) dans chaque pied et le panneau inférieur et dans le meuble pour 

téléviseur. Serrez les vis à l’aide de la clé hexagonale (K). 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

 
 



10 
 

 
ÉTAPE 5 – Fixez le panneau supérieur. 

 

 
 
 
 
 

A Colle (1) 

 
 
 
 
 
 

D Gros raccord à 
came (6) 

Meuble pour téléviseur de 60 po de couleur expresso 
 
 
 
 

I Vis à bois 
4 × 38 × 8 mm (4) 

 

 
1 Panneau supérieur (1)  

Tournevis à lame plate 
 

Tournevis Phillips 

 
 

 
 

 
 

 
  

 
 

 

 
 

 
 

1 Mettez doucement le meuble pour téléviseur debout. 
2 Insérez six gros raccords à came (D) dans les orifices des raccords à came situés dans les panneaux du 

côté gauche, du côté droit et du milieu. Assurez-vous que les ouvertures sur les raccords à came font 
face aux orifices des vis à came. 

3 Insérez une goutte de colle dans les six orifices des goujons sur le panneau supérieur (1). 
4 Placez le panneau supérieur sur les panneaux du côté gauche (6), du côté droit (8) et du milieu (7) de façon à ce que les 

goujons et les vis à came soient alignés. 
5 Serrez les raccords à came. 
6 Fixez le panneau supérieur à la barre transversale supérieure (4) à l’aide de quatre vis à bois 4 × 38 × 8 mm (I). 

 
 
 



11 
 

 
 

 
 

 

 
 

ÉTAPE 6 – Fixez le panneau arrière. 
 

 
4499BR-60T 

 

 
 
 
 
 

3 Panneau arrière (1) 
 

Tournevis Phillips 

L Vis à bois 3 × 16 × 8 mm 
(23) 

M Bande de gestion 
des câbles (2) 

 
WC Pattes de 
montage (2) 

Remarque : WC fait 
partie de la trousse anti-

basculement

 
 

 
 

 
 

 
 

1 Alignez les vis situées sur le panneau arrière (3) avec les orifices des vis situés à l’arrière du meuble pour téléviseur. 
2 Alignez deux pattes de montage (WC) avec les orifices situés au haut de chaque coin du panneau arrière, comme 

indiqué. 
3 Insérez deux vis à bois 3 × 16 × 8 mm (L) dans les pattes de montage et l’arrière du meuble pour téléviseur. 

Serrez les vis. 
4 Alignez deux bandes de gestion des câbles (M) horizontalement avec les orifices du centre situés sur le panneau 

arrière, comme indiqué. 
5 Insérez deux vis à bois 3 × 16 × 8 mm (L) dans les bandes de gestion des câbles et l’arrière du 

meuble pour téléviseur. Serrez les vis. 
6 Fixez le panneau arrière au meuble pour téléviseur à l’aide de 19 vis à bois 3 × 16 × 8 mm (L). 

 
 
 WC 

WC 

L 



12 
 

 
    

 
ÉTAPE 7 – Fixez la garniture à la 

tablette. 
 

 

11 Garniture avant (1) 

 
 

 
 
 
 
 
 
12 Tablette réglable (1) 

 
 
 
 
 
 

A Colle (1) 

Meuble pour téléviseur de 60 po de couleur expresso 
 
 
 
 

D Gros raccord à came (3) 

 
Tournevis à lame plate 

 
1 Placez la tablette réglable (12) face vers le bas, puis insérez trois raccords à came (D). Assurez-vous que les ouvertures 

sur les raccords à came font face aux orifices des vis à came. 
2 Insérez une goutte de colle dans les trois orifices des goujons situés sur la garniture avant (11). 
3 Pressez la tablette et la garniture ensemble, puis serrez les raccords à came. 

 
 
 
 

Dessus 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 

 
 

 
 

 
 

 
 



13 
 

 
 

ÉTAPE 8 – Assemblez les tiroirs. 
Assemblage des côtés et de l’arrière des tiroirs  

 

4499BR-60T 

 

 

 
13 Panneau de tiroir 

arrière (2) 

 

 
14 Panneau de tiroir 

du côté 
gauche (2) 

15  

16 1
6

 

B
o
t

 
 

15 Panneau de tiroir 
du côté 
droit (2) 

1 Assurez-vous que les rainures situées dans le panneau de tiroir du côté gauche (14), le panneau 
de tiroir du côté droit (15) et le panneau de tiroir arrière (13) sont au bas des panneaux et 
orientées vers l’intérieur. 

2 Assurez-vous que les goujons situés sur les panneaux de tiroir du côté gauche et du côté droit sont orientés vers 
l’avant. 

3 Fixez les panneaux du côté gauche et du côté droit au panneau arrière à l’aide de quatre vis à bois 4 × 38 × 8 mm (I). 
4 Répétez ces étapes pour assembler l’autre tiroir. 

 
 
 

Fixation du panneau du fond de tiroir. 
 
 
 
 

 
 
 

16 Panneau du fond de tiroir (2) 
 

1 Faites glisser le panneau du fond de tiroir (16) dans les rainures situées sur le panneau de tiroir du côté 
gauche (14), le panneau de tiroir du côté droit (15) et le panneau de tiroir arrière (13). 

2 Répétez cette étape pour l’autre tiroir. 
 

I Vis à bois 4 x 38 x 8 mm 

Tournevis Phillips 



14 
 

  
 

Meuble pour téléviseur de 60 po de couleur expresso 
 

 

Fixation des devants de tiroir et des supports de 
tiroir. 

 
 

17 Support de tiroir 
inférieur (2) 

                                    18 Panneau de tiroir avant (2) 

 
 
 
 

A Colle (1) 

 
 
 

Vis I 4 × 38 × 8 mm (4) 

 
 
 

F Petit raccord à came (10) 

 

Tournevis Phillips Tournevis à lame plate 

 

1 À l’extérieur du tiroir, fixez le support de tiroir inférieur (17) au panneau de tiroir arrière (13) à l’aide de deux vis à 
bois 4 × 38 × 8 mm (I). 

2 Insérez quatre petits raccords à came dans les orifices des raccords à came situés sur le panneau de tiroir du côté 
gauche (14) et le panneau de tiroir du côté droit (15). Assurez-vous que les raccords à came font face aux orifices des 
vis à came. 

3 Insérez une goutte de colle dans les trois orifices des goujons situés sur le panneau de tiroir avant (18). 
4 Assurez-vous que la rainure située sur le panneau de tiroir avant est alignée avec la rainure située sur le panneau 

du fond de tiroir, puis pressez-les ensemble. 
5 Serrez les vis à came. 
6 Répétez ces étapes pour l’autre tiroir. 

 

 
Fixation des poignées des tiroirs. 
 
 

 
 

N Poignée (2) 
O Vis mécanique 

4 × 21 × 8 mm (4) 

 
1 Alignez une poignée (N) avec les orifices situés au centre du panneau de tiroir avant (18). 
2 À partir de l’intérieur du tiroir, fixez la poignée à l’aide de deux vis mécaniques 4 × 21 × 8 mm (O). 
3 Répétez ces étapes pour l’autre tiroir. 

 
 
 
 
 

 
 
 
 
 
 

 

 
 

 
 

 
 

 
 



15 
 

    
 

ÉTAPE 9 – Insérez la tablette et les tiroirs. 

 

 
12 Tablette réglable (1) 

 
 
 
 
 
 
 
 
 

P Support de 
tablette (4) 

 
4499BR-60T 

 

Insertion de la tablette 
1 Sélectionnez le niveau où vous souhaitez que repose la tablette. Vous avez le choix de trois positions. 
2 Insérez les quatre supports de tablette (P) dans les orifices situés à l’intérieur du meuble pour téléviseur. Assurez-vous que les supports de 

tablette sont situés au même niveau. 
3 La garniture avant étant face à vous, insérez la tablette au-dessus des supports, puis abaissez la tablette sur les supports. 

 

 

Insertion des tiroirs 
1 Faites glisser les plaques à roulement à billes situées sur les panneaux de tiroir du côté gauche et du côté droit vers l’avant du meuble pour 

téléviseur. 
2 Alignez les glissières des tiroirs avec les plaques à roulement à billes, puis faites glisser les tiroirs dans le meuble pour téléviseur. 

 

 
Retrait des tiroirs 

• Tirez le tiroir jusqu’à ce que vous puissiez voir ou sentir les agrafes en nylon situées sur les plaques à roulement à 
billes, puis, en même temps, abaissez l’agrafe du côté droit, soulevez l’agrafe du côté gauche et retirez le tiroir du 
meuble pour téléviseur. 

 
 

 
  
 

 
 

Avant 

Plaque à 
roulement  à 
billes 

 
 
 
 
 

Avant 
Agrafe en nylon  

 
 
 
 
 

Avant 
Agrafe en nylon 



16 
 

 
ÉTAPE 10 – Fixez la porte. 

 
 
 

19 Porte (1) 

 
 
 
 
 
 

 
Tournevis Phillips 

Meuble pour téléviseur de 60 po de couleur expresso 
 
 
 
 

Les pièces ci-dessous sont préinstallées. 
 

ZA Galet ZB Loquet 

 
 

 
 

1 Placez les galets préassemblés (ZA) situés au bas de la porte (19) dans la rainure située sur le panneau inférieur (2). 
2 Assurez-vous que les loquets (ZB) sont déverrouillés. 
3 Insérez les loquets dans la rainure située sur le dessus de la porte (19), puis poussez les glissières de loquet en position 

verrouillée. 
4 Assurez-vous que la porte coulisse librement. Si la porte ne coulisse pas librement, desserrez les vis au centre 

des galets, tournez légèrement les galets dans le sens des aiguilles d’une montre, puis serrez les vis. Vérifiez à 
nouveau le mouvement de la porte. 

 
 
 

VUE ARRIÈRE 
Verrouillé 

Déverrouillé 

VUE ARRIÈRE 
 

Vous avez terminé! Nettoyez le meuble pour téléviseur à l’aide d’un chiffon humide, puis essuyez-le. 
 
 
 



17 
 

 

 
Instructions d’installation de la sangle de 
sécurité anti-basculement  

4499BR-60T 

 

 
 
 
 
 
 
 
 
 
 

WA Vis à bois 4 × 
25 × 8 mm (2) 

 
 

WB Douille en plastique WC  (2) Patte de 
montage 
(2) 

 
 

WD Sangle de 
montage en 
plastique (2) 

 
 

Tournevis Phillips  

 
 

Maillet en caoutchouc  

 
 

1 Utilisez une perceuse munie d’une mèche de 8 mm (5/16 po) pour percer deux trous dans le mur, environ 5 cm (2 po) sous 
la position des pattes de montage sur le meuble pour téléviseur, puis insérez les douilles en plastique (WB) dans les orifices. 

 

2 Fixez les pattes de montage (WC) aux douilles en plastique à l’aide de deux vis à bois 4 × 25 × 8 mm (WA). 
 

 
3 Insérez les sangles de montage en plastique (WD) dans les pattes de montage situées sur le meuble pour 

téléviseur et sur le mur, puis insérez les sangles dans les trous des sangles. 
 

 
4 Tirez sur les sangles pour les serrer, puis insérez à nouveau les sangles dans les orifices des sangles pour les verrouiller en place. 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  
 

Remarque : Nous vous recommandons d’installer la sangle anti-basculement par mesure de sécurité. 

 
  

 
 

 

Remarques : 
• Vous avez fixé les pattes de montage au meuble pour téléviseur à l’ÉTAPE 6 – Fixez le panneau arrière à la page 11. 
• Vous pouvez utiliser un maillet en caoutchouc pour enfoncer doucement les douilles dans les orifices. 

 
 

 
 

 
 



18 
 

 

 
 

 
 

Garantie limitée d’un an 
 

Nous vous remercions d’avoir acheté ce produit. Nous nous engageons à réparer ou à remplacer tout produit ou composant 
présentant un quelconque défaut de matériau ou de fabrication, pour une période d’un an après votre achat. La présente 
garantie est soumise aux dispositions ci-dessous. La seule obligation du vendeur et le seul recours de l’acheteur en vertu des 
présentes garanties se limitent au remplacement, à la seule discrétion du vendeur. Il n’existe aucune autre garantie, 
expresse ou implicite, à l’exception de celles qui sont expressément énoncées ci-dessous, y compris toute garantie de 
qualité marchande à des fins particulières. 

 
Le mot « défauts », tel qu’il est utilisé dans la présente garantie, désigne les imperfections qui compromettent le service, la fonction 
ou l’efficacité du produit. 

 
1 AN : 
Les glissières, les roulettes et les mécanismes de surface 
de travail réglables par l’utilisateur; les matériaux stratifiés, 
les finis de placage et d’autres matériaux qui recouvrent le 
produit. 

 
 
 

INFORMATION SUR LES VARIATIONS DE COULEUR ET 
DE FINI : 
Certaines variations naturelles du bois ou d’autres 
matériaux naturels sont inhérentes à leur caractère et 
ne peuvent donc être évitées. Par conséquent, elles ne 
sont pas considérées comme des défauts. Nous ne 
garantissons pas la solidité des couleurs ou 
l’assortiment des couleurs, des grains, des textures ou 
d’autres matériaux de ce type. Les matériaux choisis 
par le client et utilisés à sa demande ne sont donc pas 
garantis. 

 
 

LIMITATIONS CONCERNANT LES MATÉRIAUX ET LES 
COMPOSANTS : 
Les matériaux et tous les composants énumérés ci-
après sont couverts selon le calendrier suivant à 
partir de la date de la vente à l’acheteur initial. 

 
EXCLUSIONS : 
La présente garantie ne s’applique pas à ce qui suit : les 
dommages causés par le transporteur, les modifications 
apportées au produit ou aux accessoires ajoutés au 
produit non approuvés par le fabricant, les matériaux non 
standard sélectionnés et utilisés à la demande d’un 
utilisateur, et les produits qui n’ont pas été installés, 
utilisés ou entretenus conformément aux instructions et 
aux avertissements du produit. Le vendeur ne sera pas 
non plus tenu responsable des dommages accessoires ou 
indirects découlant de la violation de la présente garantie, 
y compris, mais non de façon limitative, les dommages 
pour inconvénients, la location ou l’achat de produits de 
remplacement, la perte de profits ou la perte commerciale. 
Certains États ne permettent pas l’exclusion ou la 
limitation des dommages accessoires ou consécutifs, alors 
l’exclusion ou la limitation susmentionnée peut ne pas 
vous concerner. La présente garantie vous confère des 
droits juridiques supplémentaires précis, et vous pourriez 
également jouir d’autres droits qui peuvent varier d’un État 
ou d’une province à l’autre. La présente garantie 
s’applique uniquement aux produits vendus aux États-Unis 
d’Amérique et dans la République du Canada. 

POUR OBTENIR UN SERVICE AU TITRE DE LA PRÉSENTE GARANTIE : 
Votre détaillant est notre partenaire mutuel dans la prise en 
charge de vos demandes concernant la garantie. En suivant 
les procédures indiquées ci-dessous, vous êtes assuré de 
recevoir le meilleur service à la clientèle garanti. 

A) Veuillez communiquer avec le détaillant local auprès 
duquel vous avez effectué votre achat initial dans les 30 
jours (sauf indication contraire du détaillant) suivant la 
découverte du défaut. Préparez-vous à confirmer que vous 
êtes l’acheteur initial du produit et à fournir les 
renseignements requis sur le produit, notamment le 
numéro de série ou le numéro CUP du produit en 
question. 

B)  Le détaillant recueillera tous les renseignements 
pertinents requis concernant votre ou vos réclamations, 
inspectera le produit et communiquera avec un 
représentant du service à la clientèle du vendeur. 
(Veuillez prévoir un délai raisonnable pour l’inspection et 
l’examen par le détaillant et sa réponse). 

C) Si le détaillant confirme que le produit examiné est 
admissible en vertu des conditions de la garantie comme 
susmentionné, le représentant du service à la clientèle ou 
un autre représentant de l’entreprise déterminera s’il faut 
fournir des pièces de rechange ou autoriser d’autres 
arrangements, à la seule discrétion du vendeur. Ni 
l’assemblage ni la main-d’œuvre ne sont inclus dans la 
présente garantie. 

 
 
 

Nos représentants de service compétents sont prêts à vous aider si 
la présente garantie s’applique à vous. Veuillez communiquer avec 
le détaillant local auprès duquel vous avez effectué l’achat initial du 
produit en question, et soyez prêt à expliquer le défaut en détail et à 
fournir le numéro de modèle/style, la date et le lieu de l’achat et vos 
nom, adresse et numéro de téléphone. Veuillez également avoir en 
main votre reçu original. 
 
 
  

 
 
 
 
 
 
 

 



19 
 

     
 

4499BR-60T 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  

 
 

 
 



20 
 

 
Meuble pour téléviseur de 60 po de couleur expresso 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 


